

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Trancas Creek Crossing Permanent Waterline (Phase II)

Project ID: WWD2900090

Bids Opened: 10/7/2025 Project Manager: Victor Flores 626-458-4941

		Engineer's Estimate		(1) GMZ Engineering, Inc.		(2) Cedro Construction, Inc.		(3) Addison-Miller Inc.		(4) MMC, Inc.			
(1) Preliminary Bid Amount					\$	1,497,830.00	\$	\$1,821,457.04		\$1,946,256.24		1,984,940.00	
(2) Un	nit Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	5		MTH	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	PREPARATION OF THE WATERLINE DISCHARGE PLAN (STIPULATED PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
5	IMPLEMENTATION OF THE LTWHP	1	\$10,000.00	LS	\$10,000.00	\$5,000.00	\$5,000.00	\$27,630.00	\$27,630.00	\$18,750.00	\$18,750.00	\$20,000.00	\$20,000.00
6	IMPLEMENTATION OF BMPS	1	\$15,000.00	LS	\$15,000.00	\$15,000.00	\$15,000.00	\$5,164.00	\$5,164.00	\$62,500.00	\$62,500.00	\$35,000.00	\$35,000.00
7	INSTALLATION OF ESA FENCING	890	\$6.00	LF	\$5,340.00	\$25.00	\$22,250.00	\$23.00	\$20,470.00	\$37.50	\$33,375.00	\$50.00	\$44,500.00
8	MAINTENANCE AND REMOVAL OF ESA FENCING	890	\$2.00	LF	\$1,780.00	\$10.00	\$8,900.00	\$22.00	\$19,580.00	\$37.50	\$33,375.00	\$10.00	\$8,900.00
9	SHORING OF OPEN EXCAVATIONS	1	\$32,000.00	LS	\$32,000.00	\$35,000.00	\$35,000.00	\$19,619.00	\$19,619.00	\$81,250.00	\$81,250.00	\$50,000.00	\$50,000.00
10	OFFICE FACILITIES	6	\$8,500.00	MTH	\$51,000.00	\$5,000.00	\$30,000.00	\$6,978.00	\$41,868.00	\$8,125.00	\$48,750.00	\$10,000.00	\$60,000.00
11	MOBILIZATION	1	\$90,000.00	LS	\$90,000.00	\$75,000.00	\$75,000.00	\$31,345.00	\$31,345.00	\$168,000.00	\$168,000.00	\$100,000.00	\$100,000.00
12	CLEARING AND GRUBBING	1	\$20,000.00	LS	\$20,000.00	\$35,000.00	\$35,000.00	\$15,000.00	\$15,000.00	\$31,250.00	\$31,250.00	\$30,000.00	\$30,000.00

Project Name: Trancas Creek Crossing Permanent Waterline (Phase II)

Project ID: WWD2900090

Rids Opened: 10/7/2025

Bids Opened: 10/7/2025 Project Manager: Victor Flores 626-458-4941

			Engineer's Estimate		(1) GMZ Engineering, Inc.		(2) Cedro Construction, Inc.		(3) Addison-Miller Inc.		(4) MMC, Inc.			
(1) Preliminary Bid Amount						\$1,497,830.00		\$1,821,457.04	\$	51,946,256.24		\$1,984,940.00		
(2) Un	it Price Detail													
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	
13	18" STEEL WATERMAIN, .375" THICK, CML&C, FLANGED JOINTS	300	\$1,250.00	LF	\$375,000.00	\$1,200.00	\$360,000.00	\$1,738.00	\$521,400.00	\$1,920.00	\$576,000.00	\$1,700.00	\$510,000.00	
14	INSTALL 18" STEEL WATERMAIN, CML&C, WELDED (DELIVER FROM POINT DUME YARD)	100	\$850.00	LF	\$85,000.00	\$1,000.00	\$100,000.00	\$2,394.00	\$239,400.00	\$1,440.00	\$144,000.00	\$1,200.00	\$120,000.00	
15	16" STEEL WATERMAIN, .375"	10	\$2,000.00	LF	\$20,000.00	\$1,000.00	\$10,000.00	\$2,754.00	\$27,540.00	\$1,920.00	\$19,200.00	\$1,500.00	\$15,000.00	
	THICK, CML&C		4000.00		\$44.500.00	***	#45.000.00	4500.00	00.004.00	#500.00	*** 500.00	* 050.00	<u> </u>	
16	TRENCH BACKFILL SLURRY	17	\$680.00	CY	\$11,560.00	\$900.00	\$15,300.00	\$523.00	\$8,891.00	\$560.00	\$9,520.00	\$250.00	\$4,250.00	
17	FLEXIBLE EXPANSION JOINT, DOUBLE BALL, 18"	2	\$50,000.00	EA	\$100,000.00	\$50,000.00	\$100,000.00	\$45,858.00	\$91,716.00	\$4,000.00	\$8,000.00	\$35,000.00	\$70,000.00	
18	AIR RELEASE AND VACUUM VALVE ASSEMBLY, 2"	1	\$8,400.00	EA	\$8,400.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$20,000.00	\$20,000.00	\$8,000.00	\$8,000.00	
19	INTERCONNECTION TO EXISTING WATERMAIN	3	\$32,000.00	EA	\$96,000.00	\$5,000.00	\$15,000.00	\$40,050.00	\$120,150.00	\$24,000.00	\$72,000.00	\$15,000.00	\$45,000.00	
20	REMOVE AND DISPOSE EXISTING 16" HDPE WATER MAIN	1	\$45,000.00	LS	\$45,000.00	\$10,000.00	\$10,000.00	\$23,000.00	\$23,000.00	\$80,000.00	\$80,000.00	\$20,000.00	\$20,000.00	
21	INITIAL VIDEO INSPECTION	1	\$5,500.00	LS	\$5,500.00	\$5,000.00	\$5,000.00	\$4,973.00	\$4,973.00	\$16,000.00	\$16,000.00	\$40,000.00	\$40,000.00	
22	VIDEO INSPECTION	1	\$5,500.00	LS	\$5,500.00	\$5,000.00	\$5,000.00	\$4,974.00	\$4,974.00	\$16,000.00	\$16,000.00	\$40,000.00	\$40,000.00	
23	DRILL AND BOND ANCHOR (EPOXY CARTRIDGE)	57	\$300.00	LF	\$17,100.00	\$250.00	\$14,250.00	\$1,908.00	\$108,756.00	\$312.50	\$17,812.50	\$500.00	\$28,500.00	
24	STRUCTURAL STEEL	35498	\$20.00	LB	\$709,960.00	\$15.00	\$532,470.00	\$9.40	\$333,681.20	\$8.13	\$288,598.74	\$15.00	\$532,470.00	
25	MISCELLANEOUS METAL	808	\$50.00	LB	\$40,400.00	\$20.00	\$16,160.00	\$64.48	\$52,099.84	\$31.25	\$25,250.00	\$40.00	\$32,320.00	
26	RELOCATE RIP RAP	5	\$5,000.00	CY	\$25,000.00	\$1,000.00	\$5,000.00	\$2,995.00	\$14,975.00	\$10,125.00	\$50,625.00	\$2,500.00	\$12,500.00	
27	TRAFFIC CONTROL	1	\$130,000.00	LS	\$130,000.00	\$35,000.00	\$35,000.00	\$26,525.00	\$26,525.00	\$67,500.00	\$67,500.00	\$100,000.00	\$100,000.00	
28	TEMPORARY SUPPLY LINE	1	\$50,000.00	LS	\$50,000.00	\$35,000.00	\$35,000.00	\$50,200.00	\$50,200.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	
Unit Price Total		9	\$1,958,040.00		\$1,497,830.00		\$1,821,457.04	9	51,946,256.24		\$1,984,940.00			
(3) LS	BE/DVBE/SE Preference Amount						\$0.00		\$0.00		\$104,848.10		\$0.00	
(4) LS	BE/DVBE/SE Adjusted Amount						\$1,497,830.00	\$1,821,457.04 \$1,841,408.14				·		
Comments					APPARENT	LOW BIDDER								



Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Trancas Creek Crossing Permanent Waterline (Phase II)

Project ID: WWD2900090 Bids Opened: 10/7/2025

Project Manager: Victor Flores 626-458-4941

				Engin	eer's Estimate	(5) Blois Cons	struction, LLC						
(1) Pre	liminary Bid Amount					\$	2,058,780.00						
(2) Uni	t Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00						
	PRICE OF \$2,500)												
2	CONSTRUCTION SCHEDULE	5	\$500.00	MTH	\$2,500.00	\$500.00	\$2,500.00						_
	(UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)												
3	CONSTRUCTION SCHEDULE	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00						
	(AS-BUILT) (STIPULATED UNIT												
	PRICE OF \$1,000)												
4	PREPARATION OF THE	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00						
	WATERLINE DISCHARGE PLAN												
	(STIPULATED PRICE OF \$2,500)		* 10 000 00		440.000.00	4400 0== 00	* 400.077.00						
5	IMPLEMENTATION OF THE	1	\$10,000.00	LS	\$10,000.00	\$133,855.00	\$133,855.00						
	LTWHP		* • • • • • • • • • • • • • • • • • • •		445.000.00	404 400 00	*						
6	IMPLEMENTATION OF BMPS	1	\$15,000.00	LS	\$15,000.00	\$34,138.00	\$34,138.00						
7	INSTALLATION OF ESA	890	\$6.00	LF	\$5,340.00	\$74.00	\$65,860.00						
	FENCING		40.00		* 1 = 2 2 2 2	***	400 400 00						
8	MAINTENANCE AND REMOVAL	890	\$2.00	LF	\$1,780.00	\$32.00	\$28,480.00						
	OF ESA FENCING												
9	SHORING OF OPEN	1	\$32,000.00	LS	\$32,000.00	\$6,832.00	\$6,832.00						
	EXCAVATIONS				4-1-1-1								
10	OFFICE FACILITIES	6	\$8,500.00	MTH	\$51,000.00	\$8,349.00	\$50,094.00						
11	MOBILIZATION	1	\$90,000.00	LS	\$90,000.00	\$56,937.00	\$56,937.00						
12	CLEARING AND GRUBBING	1	\$20,000.00	LS	\$20,000.00	\$66,018.00	\$66,018.00						

Project Name: Trancas Creek Crossing Permanent Waterline (Phase II)

Project ID: WWD2900090

Rids Opened: 10/7/2025

Bids Opened: 10/7/2025 Project Manager: Victor Flores 626-458-4941

				Engine	eer's Estimate	(5) Blois Cons) Blois Construction, LLC						
(1) Pre	liminary Bid Amount					\$	52,058,780.00						
(2) Uni	t Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
13	18" STEEL WATERMAIN, .375"	300	\$1,250.00	LF	\$375,000.00	\$1,335.00	\$400,500.00		1				
	THICK, CML&C, FLANGED												
	JOINTS												
14	INSTALL 18" STEEL	100	\$850.00	LF	\$85,000.00	\$904.00	\$90,400.00						_
	WATERMAIN, CML&C, WELDED												
	(DELIVER FROM POINT DUME												
	YARD)		40,000,00		# 00,000,00	00.047.00	400.470.00						
15	16" STEEL WATERMAIN, .375"	10	\$2,000.00	LF	\$20,000.00	\$2,847.00	\$28,470.00						
40	THICK, CML&C	47	\$680.00	0)/	\$11,560.00	\$588.00	\$9,996.00						
16	TRENCH BACKFILL SLURRY	17	\$50,000.00	CY	\$10,000.00	\$50,778.00	\$101,556.00						
17	FLEXIBLE EXPANSION JOINT, DOUBLE BALL, 18"	2	\$50,000.00	EA	\$100,000.00	φ30,776.00	\$101,550.00						
18	AIR RELEASE AND VACUUM	1	\$8,400.00	EA	\$8,400.00	\$10,006.00	\$10,006.00						
10	VALVE ASSEMBLY, 2"	1	ψο, του.ου	LA	ψο, 400.00	ψ10,000.00	Ψ10,000.00						
19	INTERCONNECTION TO	3	\$32,000.00	EA	\$96,000.00	\$24,511.00	\$73,533.00						
10	EXISTING WATERMAIN	ŭ	. ,	_, 、	, ,	, ,							
20	REMOVE AND DISPOSE	1	\$45,000.00	LS	\$45,000.00	\$22,365.00	\$22,365.00						
	EXISTING 16" HDPE WATER												
	MAIN												
21	INITIAL VIDEO INSPECTION	1	\$5,500.00	LS	\$5,500.00	\$2,463.00	\$2,463.00						
22	VIDEO INSPECTION	1	\$5,500.00	LS	\$5,500.00	\$2,463.00	\$2,463.00						
23	DRILL AND BOND ANCHOR	57	\$300.00	LF	\$17,100.00	\$3,240.00	\$184,680.00						
	(EPOXY CARTRIDGE)												
24	STRUCTURAL STEEL	35498	\$20.00	LB	\$709,960.00	\$7.00	\$248,486.00						
25	MISCELLANEOUS METAL	808	\$50.00	LB	\$40,400.00	\$335.00	\$270,680.00						
26	RELOCATE RIP RAP	5	\$5,000.00	CY	\$25,000.00	\$3,011.00	\$15,055.00						
27	TRAFFIC CONTROL	1_	\$130,000.00	LS	\$130,000.00	\$129,781.00	\$129,781.00						
28	TEMPORARY SUPPLY LINE	1	\$50,000.00	LS	\$50,000.00	\$17,632.00	\$17,632.00						
	ice Total				\$1,958,040.00	\$	52,058,780.00						
(3) LSE	BE/DVBE/SE Preference Amount						\$0.00						
(4) LSBE/DVBE/SE Adjusted Amount						\$	52,058,780.00						
Comm	ents												